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Aufgabe 1
Berechne.
5 1 1 9 3 17 31 14 13
a) 13- 18T b) -3+ ) 3737 37
13 7 1 8 1 2 33 6 13
d) -3+ ©) 5-9tds ) w-ww—1
22 2 4
g 5+t h) 3-%-3
Aufgabe 2
Berechne.
9 30 15 2 71 38 51 87
a) lsp+57 — 31 — 57 b) s—s+tstsy
) 13844263 72 d) 20— 105 + 345 — 393
Aufgabe 3
Berechne.
4 2 4 4 21 1
a) Ak + 97 b) 32+40 c) &y d) B3l
1 14 1 2 4
) 1+% f) 3+ g R+ h) 3%+ ot
82 53 62 98
) 79+ ) B+5
Aufgabe 4
Berechne.
17 11 3 11 5 5 1 1 20 1 29 30
a) g5t ax 8t 12 b) itsi—12+3 ¢) 91— 13T ortor
4 1 1 1 5 1 1 4 16 1 19 8
) 5-wt+to— 15 e) x-5-mto f) m—7+%—1m
3 13 21 9 71 13 3 17 : 17 5 12 3
) 3tstmo h) 76— 7 — 38 — 38 D) grtartar 47
2 3 29 9
) 13313 — %
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Viel Erfolg]!
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